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RAILWAY SAMPLE PAPER 1 

 

1.  Shatabdi Express train was started in 

  (a) 1984  (b) 1988  (c) 1990  (d) 1985 

2.  What is the position of the Indian Railway under the zonal system? 

 (a) First  (b) Second  (c) Third  (d) Forth 

3.  A trader told his servant Shambhu that he left for his home from the shop after every 2 : 40 hours. I 

left for home 55 minutes earlier and for the next time I will leave for home from my shop at 8 : 15 
p.m. At which time did I inform my servant? 

 (a) 6 : 30 (b) 6 : 00 (c) 6 : 15 (d) 4 : 20 

4.  Railway Staff College is situated at 

  (a) Bangalore  (b) Secundrabad  (c) Chennai  (d) Vadodara 

5.  How much distance was traveled by first train of India? 

  (a) 33 km  (b) 36 km  (c) 34 km  (d) 46 km 

6.  In which of the following cities, the first sub-way train was started? 

 (a) Mumbai  (b) Delhi  (c) Calcutta  (d) Chennai 

7.  Radha and Saroj are ranked 10th and 16th respectively in a class of 37 students. What will be their 

ranks from the bottom in the class? 

 (a) 28th, 22nd (b) 27th, 21st (c) 28th, 20th (d) 27th, 22nd 

8.  In which institution the training of electric work is being given? 

  (a) Indian Railways Institute of Mechanical and Electrical Engineering 

  (b) Indian Railways Institute of Electrical Engineering 

  (c) Railway Staff College 

 (d) Indian Railways Institute of Civil Engineering 

9.  Diesel Locomotive Works is situated at 

 (a) Perambur  (b) Varanasi  (c) Kapurthala  (d) Bangalore 

10. Rajasthan is under which of the following railway zones? 

  (a) Northern region    (b) Western region 

  (c) North-Western region  (d) Central Region 

11.  Destination India, conference on commerce and trade was organised at: 

 (a) Zurich  (b) Bangalore  (c) Singapore  (d) Tokyo 

12. ICENET is the network connecting the offices of the: 

 (a) Central Board of Excise and Customs (b) State Bank of India 

 (c) Human Resource Ministry (d) External Affairs Ministry 

13.  On dividing a number by 19, the difference between quotient and remainder is 9. The number is— 

 (a) 370 (b) 352 (c) 361 (d) 371 

14.  CBE-2002 a NATO exercise by Canada, Greece, Hungary, Turkey, UK and US was launched 

in____, for NATO peace programme. 

 (a) Georgia  (b) Angola  (c) Durban  (d) Ireland 

 

15.  To review the disclosure and investor protection guidelines, a committee was constituted by SEBI 
under: 
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 (a) T.N. Chaturvedi  (b) A.K. Basu (c) N.J. Reddy  (d) Y.H. Malegam 

16.  In which Governor-General’s reign railway lines in India were established? 

 (a) Lord William Bentick   (b) Lord Cornwallis 

 (c) Lord Kenning    (d) Lord Dalhousie 

17.  Who among the following has been named as the White Lightning in the cricket? 

 (a) Adam Parore (New Zealand) (b) Allan Donald (South Africa) 

 (c) Ben Hollioake (Australia) (d) Dion Nash (New Zealand) 

18. European Union Summit was held in Slovenia at: 

 (a) Bled  (b) Geory  (c) Repti  (d) Ottowom 

19.  One litre of water is evaporated from a 6 litre solution containing 4% sugar. The percentage of sugar 

in the remaining solution is— 

 (a) 24/5 % (b) 4 % (c) 3 % (d) 10/3 % 

20. Who is the author of "Anandmath" ? 

 (a) Rabindranath Tagore   (b) Bankim chandra Chattopadhyaya 

 (c) Sarojini Nayadu    (d) Jyotiba Phule 

21.  Pankaj Advani is associated with : 

 (a) Snooker  (b) Golf (c) Shooting  (d) Archery 

22.  Mettur Dam is built on the river 

 (a) Krishna  (b) Cauvery (c) Narmada  (d) Mahanadi 

23.  27 students took part in a debate of a college. What is the probability that at least 3 of them have 
their birth days in the same month? 

 (a) 3/27  (b) 3/12 (c) 12  (d) 1 

24.  The temperature of a place increases uniformly from 210°C to 380°C from 9 am to 2 pm. What was 
the temperature at noon? 

 (a) 28.50°C (b) 270°C (c) 300°C (d) 320°C 

25. Where is the Research, Design and Standard Organisation situated? 

 (a) Lucknow  (b) Bangalore  (c) Pune  (d) New Delhi 

26. The Parliamentary System in India has been taken from 

 (a) America  (b) Britain (c) Australia  (d) Ireland 

27.  The Olympic Games 2012 was held in 

 (a) Moscow (b) Paris (c) New York  (d) London 

28. ‘Abhinav Bharat’ was organized by 

 (a) Bhai Parmanand (b) Khudiram Bose (c) Vir Savarkar (d) None of these 

29.  A boat takes half time in moving a certain distance downstream than upstream. What is ratio 
between rate in still water and rate of current? 

 (a) 1 : 2 (b) 3 : 1 (c) 2 : 1 (d) 1 : 3 

30. In India, Plan holiday was after 

 (a) China-India war of 1962 (b) Draught of 1966 

 (c) Pakistan war of 1971  (d) Pakistan war of 1965 

31.  Which of the following is correctly matched? 

 (a) Gulbarga – Karnataka  (b) Midnapur - Gujarat 

 (c) Wardha - Madhya Pradesh (d) Cochin - Tamil Nadu 
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32.  Which of the following type of clothes is manufactured by using petroleum products? 

 (a) Rayan Silk (b) Terelyne (c) Nylon (d) Cotton 

33.  Morish traveler, Ibn Batutah, came to India during the time of 

 (a) Ala-ud-din Khalji   (b) Firuz Shah Tughluq 

 (c) Balban   (d) Muhammed-bin-Tughluq 

 

Directions (34-36): Fill up the blanks with the appropriate words. 

34.  Mr. Jagdish is confident _________ his success. 

 (a) about (b) of (c) for (d) regarding 

35.  He persisted _________ doing things in a manner in which he had been doing them. 

 (a) on (b) at (c) about (d) in 

36.  An exhibition _________ the new trends in computer education was held in Delhi. 

 (a) into (b) for (c) of (d) on 

37.  The main contribution of the Chola dynasty in the field of administration lies in 

 (a) Systematic provincial administration (b) A well planned revenue system 

 (c) A well organized central government (d) An organized local self government 

38.  The sea route to India was discovered by the 

 (a) Dutch (b) English (c) Portuguese (d) French 

39.  When was the first underground railway (Metro Railway) started? 

 (a) 1982  (b) 1989  (c) 1984  (d) 1992 

40.  A bag contains 25 paise. 10 paise and 5 paise coins in the ratio 1 : 2 : 3. If their total value is Rs. 30, 

the number of 5 paise coins is— 
 (a) 50 (b) 100 (c) 150 (d) 200 
 

ANSWERS – RAILWAY SAMPLE PAPER 1 

 

1. (b) 2. (b) 3. (a) 4. (d) 5. (c) 

6. (c) 7. (a) 8. (b) 9. (b) 10. (b) 

11.  (a) 12. (a) 13. (d) 14. (a) 15. (d) 

16. (d) 17. (b) 18. (a) 19. (a) 20. (b) 

21. (a) 22. (b) 23. (c) 24. (d) 25. (a) 

26. (b) 27. (d) 28. (c) 29. (b) 30. (b) 

31. (a) 32. (c) 33. (d) 34. (b) 35. (a) 

36. (c) 37. (d) 38. (c) 39. (c) 40. (c) 

 

 


